_ Herb | c_:limher;ndcreepe, | |

\ Y

+ Green tender * Weak stems

i : * Grow along the

e Small size gmum or need

) support to climb up |
Parts of plants J
= & =
= Sh??t J Root ]

T ¥ - |
ol L S Fibrous | Taproot |

(Flower changes

into fruit)
B

Stamen | Pistil/Carpel

J IR
¥ e AR SR
Style | - stigma | ovay |— Owies
sl e . [Form seeds]

[Female Plant]
| 87

N e -
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®5 Top

" Herbs, Shrubs and Trees

A. Complete the table:

. | At the base of

Herb Ve tmall ctem
asmalftg\editmf LOJ2 QleaVE

Shrub . B —
Si.&. wun \ "an!
Abs Thick , Hyow
Very tall and High ve aﬂaﬁdgf Neem, Banyan
™ee strong td ?ﬁ.ourtf’ At unK st g

B. Identify the plants and name them.

faty

money PlonE | [Coriandest, Panana plant Aloe V €%

L C. Give two examples of each:

1. Herb (i) H.u«l‘ (ii) _Cﬂﬂanak}f Ll
i) & Rose @ Tt o

(i) M SR
~
() _Gxapey)ne (i MWJ

b 1
.— a -
g1 -
|
- .
.l
g
.
i - I‘-l
- :.-. "
HI =
: 1
k L] = |
! L]
: i AT
5
el .

" "~
LT f
a

'!"'n
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mnn keeps a herb with white flowers in a
A glass
¥ container having red ink in it. If this set up is left for

four hours, what will happen? Write our observati
and conclusion,. . poves

dlasvalisn - T sted c_a[auﬂ Stakks

S —

———

A

: ﬂau 1< be tcug,a F
Ehy colouwsted tontese &%ﬂ%@ﬁ

Red ink
Leaf
A. Observe figure and attempt the questions that follow it.
1. Label the parts 1, 2, 3 and 4 in the diagram.
2. What type of venation does the leaf have?
3. What type of venation is seen in grass leaves? [NCERT Exemplar Problems]

- _Retverlals. e Xy

B —

———— —_ — e

Peepal China rose
[NCERT Exemplar Problems]

. S . S

1 ,-- - ™
1 '.‘ ‘ ,I.L' ‘-_.!..- -

T .‘ b ol " | i y o L
L) e -4'-..*":..1 l__;. MR | AR LD
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[NCERT]

C- complete the paragraph.
Anther and filament form the (a) J:;S'iﬂmﬁ@,, which is the (b) malo,

ucti rt. ftute
reproductive part. (c) _Qﬁ%/ﬁb . (d) _A14 ‘and (e) L{Qz%(__ constitute

the (F) Af@ﬁﬂl_, which is (g) _fﬂmg_fp‘ reproductive part.

NG ) Assignment

m Type Exercises

1% k $8 Questions: INCERT Exemplar Problems]
& 1. Which of the following combination of features would you observe in grass?

T 3

B (a) Parallel venation and fibrous root

. (b) Parallel venation and taproot
(c) Reticulate venation and fibrous root
(d) Retlculate venation and taproot

ﬂ'
. 2 Whlm of the following is the correct match between the characteristics of stem
e aﬂd the category of plant?

wm( stem which cannot stand upright : Creeper

_ A
_’ | bender stem : Shrub <]
*

e

[TH[JL%J

hard stem with branching near the base : Tree
hard mem with branches high on the plant : Herb

] " J _- .' F & =3
4 ol L T e r - 2 o S ——— | o

! .
o i L T L LA T ¢ - SRR S, o
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(d) Bears flowers and fruits
4 Which of the following Is not a correct match?
| (a) Petiole : attaches leaf to stem

(b) Lamku:gremﬂatpartofleaf

(c) Margin : gives shape to the leaf

(d) Veins : transpiration

5. Read the following sentences about photosynthesis: 4
(i) Sunlight, carbon dioxide, chiorophyl and water are necessary.

(i) Oxygen is absorbed.
(iii) Leaves carry out photosynthesis.

(iv) Proteins are made during photosynthesis. |
Cl'uoosemecorrectpairufsentmcesﬂ'latareb'uemphotosvnmests

(a) (i) and (iv) £S (b) (i) and (iii) Cx

(c) (i) and (iv) o] (d) (i) and (iv) =
6. V\Mchofﬂlefollowmwmconsﬂmeﬂ\efemalepartofmeﬂowen
(a) sepals, petal and stamen I~
(b) stigma, style and ovary CE("
(c) ovary, stamen and stigma &
. (d) ovary, style and stamen £
The stem of a plant bears _Loay2s

of a tree is called

-
L] = l - ¥ " e L3
ol v il e . lq'-l"' - | L e, - .Ii:l_:__ ;‘4 v, I.]; o R ’
o hadtl L k -' (8 ri 3 i.-l‘ .:"l --_._.".‘lllj:l:" i- g "'-i'rf"‘-;' :
W o b R I‘Ft'. » . "::‘ qh ¥ =i .-.- T
i . " ?_ o few W - ..||- \ -

&
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6. KQD_L}S anchor the plants firmly in soil.
Two types of roots are % Lafz[ and {@m N erof’

7.
8. Leaves have }_EQCLLIQIL or ME ~ venation.
Q.

Plants ha.ving leaves with t2771daTe. venation have taproots and those having
' leaves with /Q:Lga[ffjg_ venation have fibrous roots.

10. The main parts of a flower are _{%Qgﬁéd, #MJ Lhmen, and M&Y .

11, Stamen has two parts called Qﬂ;’&cfg_ and %i/ﬁmé’lif‘
12. The young unopened flower is termed bj{ﬁ[ .

C. Correct the following statements and rewrite them.
1. Herbs are very tall and strong piants.

.#ﬁétbd_a}r_ﬁ JLU%_MJZZJI f"(“/ ;i&cﬂzz{ ﬁ&/ﬁfﬁ,ﬁ/ﬁffﬂﬁ '

2. Rose is a herb and paddy is a shrub.

L0550 4s 2 A _Léé_b_.a-rfld_ ;f)a.({ __E'ii fiﬁﬂﬁﬁ

3. Stems prepare food for the plant by photosynthesis.

Lraves ﬁﬁfejaaﬂu—bémi NThL ,Qzémf an% _%zéea@éwfﬁ 2415

4. Stem absorbs water and minerals from the soil. [NCERT]

Lot ablovh roa¥ee z20d minesials pum e 17/
5. Leaves hold the plant upright. [NCERT]
_&m.z‘ddé Dt planl wpiighl -

— e e

| 6. Leaves perform the function of transpiration only. [NCERT Exemplar Problems]

7. Roots conduct water to the leaves. [NCERT]

; 8. Lateral roots are present in taproot. g [NCERT Exemplar Problems)

| 3 L (oroeck

‘ - 9. The number of petals sepals in a flower is always equal. [NCERT)

: | "Z, ( _’. L1 ET J' O LLALS 2nd Sefex ¢ _.r ” ’ DLI0 5 .4.:“

0 e 0 ot o e e e
R e 14 Q. PoY 24 e L
e 1w_li‘me sepals of a flower are joined together, its petals are also joined together.

[NCERT]

e B e b a M S S e S i gt g s PEPLE e L e L AT
i e e ey MR et N ary A, W i . . B il * e Rl 8 Y A S e N, .-I_'.'i':-..'.‘-E.L.i
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12. The visible parts of a bud are the petals. [NCERT Exemp

13. If the petals of a flower are joined together, then the pistil is” joined tq ﬁ ;
| S

o o, s
s nolmec 9;%%5%%31 m‘f%egz‘bﬁ gg@f{éﬁh‘ﬂ*ﬂm

D. Match the parts of plant given in Column I with their function in Colump, ILJ

Column I Column II [NCERT Exemplar Problem,
1. Flower (a) Excretion |
2. Leaf 2.(b) Photosynthesis
3. Stem 1.(c) Reproduction
4. Root 3(d) Bears branches

4(e) Anchorage

E. Which of the following plants have you seen? Of those that you haye

Seen,
which ones have flowers? [NCERT

Grass, maize, wheat, chilli, tomato, tulsi, peepal, shisham, banyan, mango, jamun, guaﬁr
pomegranate, papaya, banana, lemon, sugarcane, potato, groundnut,

L | __ : . ! E
NY AL eonalh , LM . papoa. boianhl. s £A, Q-t?ﬁm
g A t
ROTHLD p FLLALE a4 r) 245219V 4 YiAngoO pormeé $Lannly e
S . - / - / = Y _ f /) ~ -
F. Encircle plant parts hidden in the grid by going up, down or diagonally forwari
and backward. [NCERT

~wg= = -

':

e

R

.'4‘ LY

|

.':' [l

A

(1L 0

Wi, 1
r‘;

x"

- T
2, g e s
- Sl Ny u ¥
= SR e T A
iy '-.." e
== !I:--l T L .‘_-' .

'\.'
§ i

i) i
o __‘  Ea L .- =

- 11 e il r ' = 3 - N
y - # g - 5 b
Sy - o ' e ¥ i
. L E 5 1 - i - - - \
L Lk _-1 L i*l i 57
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0 solve the riddies given below:

= 6. [NCERT Exemplar o 1
E-? 1. % have a green tender stem and 1 am much shorter than you Who am ::"" s
& o Mesh ek
?: ) I- come out first from the seed when it ig soaked In water. 1 provide anch;;;.e
0 ~ to plants. Who am [? Write another function that I perform.

¥
s

e Junclion b Ksoh Aelp L abssrpliend alerand

¥ A Sot/
"m::a:‘mﬁ;am with the terms that are listed below:
S

%
§

3

K, - Ty o

%ﬁ ther, m; ovary, Ovu‘e' mtals, plSt", stamen, filament
"‘ stamens and (b) [1/11 ~are the parts of a flower,
SEPUB' (;) %}" 4,05 a/?d (d) é{'/mujj' and it represents

. emale part of the flower is called the
the (e) part of the flower. The fe pa

?4 g,ﬁ'[ The basal part of the pistil is called the (9) Y ol
m‘ contains the(h) (7 i { [NCERT Exemplar P lems]|

- _ the clues given below it.
1. Solve the mﬂ given in ﬁgunalll'-’ : : ]
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2. If a plant has leaves wit

“nylofoef e

3. Write one dnfference between sepal and petal

0. K LoLOESL *‘(F’
oepak. 24 Lhe HECH 22 fg
gjf/:r base d Hlooesc aﬁ/da etal nthi i@fwgz%

@7(«’ e ﬁ ,mtThe open end of a stem has various hollow cavities. What does it signify?

4. :
720 Juplbowo cavikes showd1hk. ohannels 7 VVLTZI
Aupes, patseak cnside +he Spams @MM,.W Zo

onale Qﬂ*mb‘[ If we peel off the stem from all sides, what is likely to happen to the plant ang
why? f}ﬁj 0@ peel opfthe sides ‘45 thi W Lie ooy, .
L€ —P?EOC#'LF' ,Lth-ff/Y' [gﬂ(’{,uc,t!ﬁtp Lojll BE OLep JW S
LA W0 and rainewals will no{‘,ﬂ{mcjv Leaves a?‘

eventu {a. o .
6. How are leaves attached to the stem?

toovps ose abtacked Fp Moy wolth
__Q-L_-#_Eifﬁ/ﬁ’ _

7. What is the green colour of a leaf due to? ;
The ?ﬂzeg& Cotle pi}.a -’fa;’ o Adue to Fle
..f, = P
YW AL (/) ')1‘4 X CAWW —

Y,
8. Do all leaves have petloles'-’

ol NM&M_&M
"ﬂﬁJ %}&0{@, 2,9 )rids Aoty L AW f Z¥ 0 581

9. Which of the followmg leaves have reticulate venation? [NCERT]
Wheat, tu15| maize, grass, conander (dhania), china rose

nG. AT _éazﬁ
210 t(’:::EZQ Ifﬁﬁﬁéﬁlﬂé! !

10. What is the function of stem in a plant? [NCERT]
@ ALY ALV (ALAL L/ /1 ’....:J' L2l :‘J-;_I! / JALY) ‘I,:nr’..
_ploud fPM_{ : eI : fad / S5 ,_
@ d LS e ’ll"-"f LK LOTTE L ,..-{ A LM /e AL 2L 2 L /T Ld

11. Potato is rich in starch Where does it get this starch from?

4 $ / | !{r Y7 .u;_“r..- ,“_ | A
wa?m fal f .- mgg 2hs Maﬁ wwbwﬁ; 4

.nL""

;
!:_

- |.-

5 " L
a L =
T
ol

g

: .

F

r‘;L _,.;

i 5 = ak # E
- . ﬂ-- P " - y i q
LN R T A g SR
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- 12 | ,Néme the part of the plant which produces its food. Name this process. [NCERT] |

-* ' W‘Sﬂ._u_ _, i e
13. Dig ouf two weeds with oots from the soil. Plant one of them in soil in pot A,

:;f-'hlle cut the root§ of the other and plant in the soil in pot B. Water both of
em regularly. Which one will be healthy and why?

Aeed 0o/l seonty (Lo POt soil]bE. MM? |
|

/ﬁfw M&M_Mﬂéﬁm’#ﬂ QHAMMQﬁMﬁé LA

14. While choosing a flower to study, why should we avoid marigold, sunflower and
chrysanthemum?

X0 B eph ool Ctive par of manpold . su fourse o0 |
W-m_-ﬁo@ — ﬂ"ﬁ a0t ?} éi‘rz‘é{/e u,;% b, Jcémm‘a/a/.*

15. In which part of a flower, you are likely to find the ovary? [NCERT}

RO Saopflew, Lbasal pmﬂ ) The P Conlhling

auaf? 43 |
16. Why do we have to cut and spread the petals of bell-shaped flowers like Datura?
[HOTS)

O Statira pelials coe joined So coe cut Lo lenpthic)
A W Ptliorn Yo see BLo rnnes /amﬁﬁf cg‘ 140 ﬂwtfrcfpm%

17. Name two flowers, each with joined and separated sepals. [NCERT]

(i) Toaleckcad, () __Chtnd £l
(i) _Rese ool i Sadcefi s

B. Short Answer Questions
1. Compare and contrast the characteristics features of herbs and shrubs.

Hest bl ase V@‘%‘( NALL. - 0d plonts. L9010e Sh5

\
74 oy .o : / | :
o Hes bt “hate. gtreth., Tbbldls  aria
7 /
2 [, 9 1i 5 vl Slsony did L g;a;, W .

%
7. You must have seen money plant, beanstalk, gourd plant and grapevines. How are

these different from herb, shrub and tree? What are such plants called?

A /) "Lj“p _,_.J A ”_.-E [AIE. £ .J', “a P

~1 ¥ Y .’.-i '{:1

¥ ‘- ! " .. | y s Dl ;
i | F & .‘ -:!II.'Ii B e Ji-l-lr‘l |‘ | 11 L ] I =
" iy . / ¥ J"'I"h' ] =" N e i E - sl
.-l- 2y .-*—""’...F" 1 .‘!_ }- r . ‘-"I':;f' e N '.1' & |:| ] + s
- Rt . T, il g T e “I e A I;-"Ill oy

5 Je A
I LN . L
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e ol ZEAAFTG PO
. 7 Jz f{__f:- (Ll _{,#-LQ
| : 'H“{H‘Wﬁ% B . C‘uf./,(... £ e,

Lo fw‘w P veseticallc DAL s Ttieg
; Y _,___L‘j:;'k s /5&«}‘%{54&{{* ;,?f:i_f?

C

d happen to flower put jointly in two glasses B and C?

WMJ@—

(a) What woul

*(b) Explaln why it happens

L’

. F
‘J A4 ,."!' A ﬁ;’

0 Ay TdAd s conilh
L % s W
Ao #7148 pelals @5/%1 p%wfz-
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7. What are the two types of leaf venation? Briefly describe each of them with

examples.
2c —&% Wl t - A
_ LZ €. Vel z’é!;tf’f/.’f Py bol#h .S‘W-/LS |
"w"i' e --r Ve PV - = TR0 [~ §
_ﬁ&

“ (5 Aot O by — TN Which vetiy sl pPatarllei Lo Cﬁuﬁ,
| J 8. Define the followdlflzl "8 ud ub- €9l- M&fi_aﬂ[‘r“f Leaves - i;
i

| E (a) Photosynthesis —Zz—ﬂfﬂﬂﬁfdg_%& [// bt ’b/m[
. . 1
| omthidalpd) o oo 1yt sl @iﬂw%?

, (b) Transpiration : 74<¢ Less C% 7 D W = Sle €

!_ el 4ormaf coalin papsio - ‘
, 9. What do you understand by leaf venation and conduction?

f AL (AL O 2 ‘/ wllid M‘ —4'42/"( ~ ﬂ%

10. Will a leaf taken from a potted plant kept in a darkroom for a few days turn

i

{

| blue-black when tested for starch? Give reasons for your answer.
1. [NCERT Exemplar Problems]

| /\[r.?‘.- Ihe L ol _iaﬁ‘é?.—_/ééﬁﬁi__é/é?ré’

M,ﬁfé’nﬁ’ﬂ xi‘;!géLaAfﬂ’ L2 Lt

11. Boojho wanted to test the presence ‘of starch in leaves. He performmllowmg

steps:
- (@) He took a leaf and boiled it in water.

(b) He placed the leaf in a petri dish and poured some iodine over it.

He did not get the expected result. Which step did he miss? Explain.
[NCERT Exemplar Problems]

-'F.__, ‘ [ - -5 /, y 2 .
- 28 il bl AL Ap0 L 0 DO . Solrl -A‘i ééﬁD{
L

# = B
. i W TS
P 40 i e e p——

e e

N _"__ - _L___L__.,'..L..i.....n_-'::r-l-ﬂ-

o), .‘ b . / / 5 ot HC‘
'.r:-'_.r.‘-r.f*"' A 1"_;‘ “Hr_;' / i ’ L/ ‘;., '. S "J ' ‘-' "_.. / il — "J.’J a
- y ) _. y Y, / / v
| (X A7.4 Lo AL 2C A IALAL 2L/ ",.-.”- - oL
' / _ shis o // \ 7 \
) A F 2 /z L Vs / 4 f44 .l' g e AL

d Y function of parts of’a plant given below: el w0Fack - 4/ w’m
~ (a) fixes plant to the soil  (b) prepares starch 275 “M'? Ladine -
- (o) takes part in reproduction  (d) supports branches and bears flowers
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In the diagram given in figure, label the names of the parts whose f

_ Uﬂrhf}ﬂg /0
have just read at the appropriate space.

[NCERT Exemplar Probip 2

13. Sprouts of gram and maize were grown and young plants were observed carefully

{:aiga

Identify gram and maize roots and write in the space provided.

(a) Similarity in roots: MLMM_Eth_Fme nAg
Suppost and ruidbitin 1o 24t plants _
(b) Difference in roots: Qﬁuéuﬁumﬂmmf L@w

f [

wbesnl Dhauthes Bts 4P tuit and raj e Lo W
14. Briefly d&smmmesu'ucweoftaprmt ‘ fr: S

- -5 N
= R . W e 1
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